CIENCIA NO

TABULEIRO

Solucoes

Palavras Cruzadas

Verticais

1.Carbono 2.Sismo 3.Lei
4.Moléculas 5.I18o
6.Atomo 7.Equacdo
8.Volume 9.Resultado
10.Gds 11.Cometa
12.Fossil 13.Forga 14.Mol

Horizontais

1.Célula 2.Sal 11.Ca
15.Teoria 16.Raio
17.Gene 18.Eletrdo
19.0smose 20.Neurdnio
21.Escala 22.Radio
23.0zono 24.Som 25.Pi
26.Astronomia

Sopa de Letras

Biologia

Quimica
Matematica

Engenharia

Astronomia
Fisica

Geologia

Medicina
Tecnologia

Meteorologia

Sociologia

Psicologia
Histéria

Filosofia
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Verticais

1.Grama 2.Biomassa 3.Fluido
4.Exponencial 5.Mineral
6.Rato 7.Etica 8.Era
9.Eletricidade 10.Mutagéo
11.Clima 12.Soma 13.Marte

Horizontais

1.Galéxia 7.Erro 14.Simetria
15.Densidade 16.Zn
17.Férmula 18.Imunidade
19.Modelo 20.Dados
21.Sociedade 22.ml
23.Artropode 24.Lua

Oeiras

ITQB
IGC

Aqudrio
Técnico

IPMA

INIAV

EMEPC
Motricidade

Ndautica

FICA
Clubes

IMVF

Novo Verde
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Aguca a Vista




